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D C . B A |: Questmns / ....AJ‘:" | Ji‘/ |
br:'..f; f(' Jwidt) i ok s c_t'W/c._ LrAdL/.r}J)U’f ok LJJ 1 .
Harmonic | ) The measure which determines the middle most | '

mean Mean i Mode Median observation in a data set is called: |
1
P ' [
| o hatl oL g ikl c_t'f,luyf( tfu//mfgu)ufb/bf/nl 2 |
3 . ) | The union of two nen-collinear rays, which have common
| Aradian Aminute | A degree Anangle | end point is called: A
! [}
|
, cosB sec? B 2c0s28 2sec? 6 U, Vs WS 3
| I * sin G ! - s:n 0 ! i
e e e | :
Vil I | b r_.rw.ubu’ S KIS a.;/r;: 4
Anarc A chord Diameter Radius | Thedistance of any point of the circle to its center is called:
7 = | = = . . o] '
</ A ! 1 8“" e tm_,ﬁ_{f._a/ﬁ_/ug:r: 5 |
Center Diameter Chord Secant A circle has only one:
E E/L,/:J:"f?{}”-:bd);'&f:’_»l/'LJJ(?JWJJU;!UJ' 6
i i
: 60° ! 45° 30° i5° Out of two congruent arcs of a circle, ifone e tﬁf;l;(j//
' arc makes a central angle of 30°, then the other arc will
boosins subtend the central angle of; i
| 4 3 : 5 ?(‘_JKPPE:LCJM.{_Q fF}JHJﬁL:_ﬂJ.{J L7
| : I The length of the diameter of a circle is how many times |
{ ‘ - the radius of the circle? R
| | \
L19,3) (£3) | (3} (9} LV_’JKX -9= 0.....'31/ 8
o i ) The solution set ofequauon x2 -9=0is:
| ; A — — —-— it .o N .
| Vsl F Jo A J’uj,,(,ﬁ 4x?=5x +2=0=llr 9
i Caual Rational | Imaginary Irrational | Roots of the equation 4x2 — 5x +2 = are: J
i ] e S ]
I . l 3 bl
o+f (a+B)> - 2ap i ol TP | - p? al+p? = 10
' v a o iy e bulnd cnlafac=b? . a:b"-b:c-.,xl;J’y; 1
| Extremes | Means | Fourh Third In continued proportiona:b=b:c, - e !
o | ac = b2, b is said to be proportional betweenaandc. | |
- i
‘ \i : Xyv vy Xy & w../i'/w:’._f"x:y::v:wli 12
L 4 o L X | vV |The fourth proportional w of x : y : : v : wis: —
& : + ! # :
/.,»:3 VI Aahd =l :‘a,du:'?.r‘;-_,d/su @}Jf; Jkuff/ 13
A proper An improper A fraction in which the degree of numerator is less than the i
| 2 |
| fraction | Anidentity fraction An cquation | degree of the denominator is called: B
A <ol e c.wi/ {;wﬁ Is I 14
Super set Set Powerset | Subset A collection of well defined objects is L.alled i
{0} {6.{a}} ;! {a) f..’_tﬁ;{ngg._‘-fdip; 15
i |

| Power set of an empty set is: _ _ ] B
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( Part-1 Jil alas )
Write short answers to any SIX parts. -éu.*.f I_vlﬁ/‘n’szzlaf:-d:(

x+1 X x+1 o s, i
_r\LTa_ = ;_76 i +—-~;—-—-6 :éufv u;‘lrv (i)

sx2=15x o ZE FAax (G

Write in standard form:

Solve by factorization: 5x2 =15x

4.9 Q.?J}:L/.Cf*&’_g..:bl/(j./m (iii)

k. "EA %
2

Va

Write quadratic eéuation having roots 4 . 9
Find 0, if 0= —_%z : _g‘_;r(:l” 0! o=
cEWPSUPA (V)
-ér}”'-.:éf'u( (9+ 40 +40? ) (vi)
“Eadedingt e i)

(iv)

Define simultaneous equations.
Evaluate: (9+40+ 4o? Y

Define ratio and give one example.
Find the valueof x when 6 : x ::3: 5 G edies ééj,’éyc.fd/x (viil)

xu=12 -Pé.:(:l”.;{—J v;ﬁv——-f&.,-?. u=8§ J:F:r;j}("/:_:"‘fd v sl );? (ix)

Ifu and v varies inversely and u = 8 when v =3, find v when u = 12.
Write short answers to any SIX parts. -éutli‘/"féwiﬂic.df

| oy T S e b
Resolve = into partial fractions. - v-—ﬂ’u w7f o B
Define an onto function. 452(_.}9-'/‘70(;)‘53:%)7 (ii)
Write DeMorgan's laws. @ . _&gg}flﬁﬁ.c;}i.ds (iii)
£
# ér}’”fwru-{l 2.3, ..., 101 <A={2.4.6,8} 01 (v

U= {1528, v , 10} and A= {2,(,‘@'(\}gwndp.

‘.-...

IfA={a,b}andB={c.d}, thenfind BxA and BX&

BxB BxAjB={c.d} #A={a,b}/ ()

Write any two properties of arithmetic mean. ey ...:.Eor"uudhzeldu’ (vi)

LSE S S e (viD)

Define standard deviation.
_Eealie sufirbsred £ 2.4, 8 2l (viii)

Find the geometric mean of the observations 2., 4 , 8 using basic formula.

2)'/0’...-74:.. ivsl;}i/s}; (ix)

-éuw/"&;m;;.d/

"'(ngfu'»u' 225° il (i)

What do you mean by weighted arithmetic mean?
Write short answers to any SIX parts.

Express angle 225° into radians.

Prove that: ﬂﬁ%ﬁﬁ_ =1+tan® ﬂ%{:%&ﬁ_ =1+tan6 .{:ﬁ'.‘..:a.h‘ (i)

EFSCnSLss” i
EAST A SN (Y

é:._aJ/"u Gl (V)

Define projection of a point.
Define a circle.

Define secant of a circle.
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Define chord of'a circle. _.g,i:_y}J}n_’.a}u (vi)
Define central angle. _g‘.i:._y/’."gg,ﬂ}d?’/ (vii)
Define regular polygon. ..‘_:;f__y/JCu:vm/;-‘f/}f, (viii)
Define perimeter. *é_g:ﬁf)br {ix)

Ui 9 Ay gt 08 Ly a3 o 400

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the given equation: v X+3 =3x-1 Vx+3 =3x-1 P anladnig ()
Prove that: X}y = (x+y) (x + 0y) (x + ®%y) .f_é.:.-,'c‘ ()

Using theorem of componendo dividendo, solve the equation: I:ég_ﬁEUVC.JU‘;’LQfJMJ}.K” ()

VXT3 +Va e
Vx+3.-Vx=3 3
i i ions: ——11X+3 _1Ix+3 sl s e,
Resolve into partial fractions: x-3)(x2+9) xX-3)(219) .§%~;/u32 -

SE kI C={1,5.8,10) B=(1,4,7, 10} « A= (1,3, 5.7,9)./ (L)
AUBNO=AUBNMAUC) |
Wa=1l, 3,.4,7.9.B ={1,4,7,10},C=1{1, 5, 8, 10} then verify that
AUBNO)=AUBNMAUQC

- OIGAE 12,6,7,3, 15,10, 18,5 s (L)

-

Calculate standard deviation for the data: 12,6,7,3,15,10, 18,5
- T - I - 2 & %
_éﬂvu:"-’uﬁfwdyfdgmu: CJA(../;J.-}I..JL}"E/ 0 s, c0s0 = 3 /! ()
-2
If cos@ = ~3 and terminal arm of the angle © is in quadrant [1, find the values of remaining
trigonometric functions.

ek 5L ABC S (L)

Practically find the center of an arc ABC.

L Ustde @i Sslae ?}'esﬁuﬁgﬁ.}"‘}sné & ﬁ';/'i,-fé‘.:.f, ¥
Prove that if two chords of a circle are congruent then they will be equidistant from the center.
- OR -- v ke
- mw‘}‘;;.e__:w#z:a/{g}';wqnu:ﬂ,c-'»,_,,-;d;f/uuac.vé‘q}urc_ g ek
Prove that the measure of a central angle of a minor arc of a circle, is double that of the angle subtended
by the corresponding major arc.
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| D C B A Questions / o Ul i N es
il IS |
4 | ] 5 “u’"éb‘ﬁé’u VJ/‘!&U:/DC&BI/» Pl
| How many common tangents can be drawn for two i
| disjointcircles? .
: - s - - S B B
(3 -« S Ju Lusfs ’ngfi?'..c..u:/,s;;;ﬁe.ﬂ}{j}r/'Jb“»] 2
| . A pair of chords of a circle subtending two congruent i !
i Parallel Over lapping Incongruent Congruent | central angles is: ; _:
i — — - . y = T i
2t B $H3 St B ALRGVE L 0 Bl | 3|
: . ; ) Tangents drawn at the ends of diameter ofacircleare | |
| Perpendicular i Collinear Non-parallel Parallel to each other. ' .
! - % . " T
PN S Py b v b Ul.vd..l.i:@:/::._.h'ﬁo/&:;. A4 ‘.
; . . . Line segment joining any point of the circle to the i
Perimeter | Radial segment Diameter Circumference |center is called:
|-tan2B | l+cos’® 1 +tan20 1-sin?0 sec? @ =: 3
e i ; — —
1200 3600 630 360 20°=: | 6 |
. Lo :_m.»u/ K_;if’r;.p-iduf.JlK e /‘”‘f L7 |
| 2 . l 0 Sum of the deviations of variable 'X' from its meanis | l
t Same i i always: i |
! | ! - | '
|  B-A | s B A 'c..trqu"B!ﬁAc—:B;l 8
! | ; If Ac B ,then A B isequal to: B ]
O T R A A2t - ,_;L;/mxew,«w m}_,, 9 ‘
l Finite set Null set | Sub set | Infiniteset |[Theset {x|xe W Ax <101} is: I -

;. { f | : x4+l
S Aol | el || /f.l,,g e L&D | 10|
N\ e ) An improper 2 +1 | 5

Anidentity | A proper fraction An equation ! fraction L |
| | | (x+D)(x =1 ' t
ash _xoyioath. Xty | &_% L oa_b LJJL*U}“ER b=x: yf! 1 |
" * ¥ 1 b _Y b b y L x ¥ Ifa:b=x:ythen altcrncndo propertyis: S
: i — 2
uv? = w2=k ! u=kv | u=v { ’Fir Fruav S 02
| S ﬂhena L ra
I q l £ ~2q g -q B')}Tmim uﬁz‘*qx“'r“{‘ .:.»isi/Bt OL/'," 13
| 4 ! T — i o
I 2p . P p i p If @ . B arethe roots 'cﬂnfg
:l '| . 'of_px 2 4. qx +1=0, then sum of roots 20 and 28 is:
e | e | o L one bl 14
| ' i | | Two square roots of unity are: - |
| . "I ' g_,wJube ax? +bx+c=0 ../f;l/.j;l.ud»n 15
d i 3 | 4 | * The number of terms in a standard quadratic equation | %
L i .ax 24bx+e=018 R &_. !
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g ( Part -1 Jy 4aa )
+ 12 Write short answers to any SIX parts, <& ;Llﬁﬁ"ﬁflzl{a.df %2
+ Solve by factorization: X2 -~x-20=0 xt-x-20=0 ?-;-";":VPJJ-;{JL. ()
'ﬁ Define reciprocal equation. _é_éﬁd/_;!:l/u’yﬁ" (i)
\Q B
5“ - . Yy .
i: -G P e a il S X+ 3ax =0 i iy
w Without solving the equation 2px2 + 3gx —4r =0, find the sum and product of its roots.
"-‘ Evaluate: (9+ 40+ 4m? )3 (9 + 40 +402 ) :g;(ﬁ”.:.af (iv)
: Write the quadratic equation having the roots =he = =, =7 :é&hb&»udh&bfé: (v)
' —s‘:‘;fx""‘c.é&l a’p? }unu’ﬁué 4x2 -5x +6=0 e sla§ns &P A (vi)
- If @B are the roots of the equation 4x2 — 5 4+ 6 =0 then find the value of a2p2.
Define inverse variation. AN (vii)
Find the fourth proportionalto 8. 7. 6 *.é:(}”.,./ﬁﬁf‘_b/ 8.7 .6 (viii)
Find x in the given proportion; X —2:4:2x+3:7 3x-2:4:2x+3:7 gf_'r'.r’)h’c.«g{; xuﬁ.'.,.wb'afq’__.- (ix)
12 Write short answers to any SIX parts. -é..-.,gmﬁfi,wgr_.df -3
3 3 .
‘_\ Find partial fracticns of m i _5;_“:-’(:1“;/6:21,( i DITE) (i)
& §
1: Find the sets X and Y if XxY={@,a),(b,a),(c,a),(d.a)} /%’::r;w Yol Xer (i)
\ AﬂB:BnAféf_:q??nA={1,2,3,4,5,6} ‘B={2,4,6,8}/1 (i
; fA={1,2,3,4,5,6},B={2,4,6,8} thenprovethat ANB=BNA
Write all the subsets of the set { a, b }. -é;/:u:&i([/"ﬁ fa,b}er (iv)
Define a function. -._:f:..é!/:bfvi‘w_ (v)
: Name two measures of central tendency. _g_g;/%td: u?"_r,_. niul.?u\j_'f':/ {(vi)
1] [ -
! Find harmonic mean for the given data: ' X J 12 ‘ 5 [ 8 ’ 4 —| Ig’g‘ﬂ“"iwi_é '/R;‘.L:Fré_::é.: (vii)
]

S d Lt 479 492086 093« 8 LAt et U bl i)

On 5 terms tests in mathematics, a student has made marks of 82, 93, 86, 92 and 79. Find median for the marks.

Define mode. -5‘_}’-’-...@/‘70::1; (ix)

.\ 12 Write short answers to any SIX parts. =& agiﬁﬁ}‘ﬁylm{‘;gj}/ -4
| fi‘ Provethat:  tan*8+ tan? 0 = tan2 B sec? O tan @+ 1an20 = tan2 0sec’ 0 St (i)
‘, What are trigonometric ratios? ?Vg;}ng’u:’-*ﬁy}‘ (i)
v Define right angle. _é:r._,y/‘{ﬂ“,,ujﬁ‘ (iii)
Define circumcircle. __4{4/1};}!»/[5' (iv)
Define secant of circle with diagram. _gf:‘_gijbd’m—_-_ JAU(F (v)

(edk) |
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Define circumference of a circle. _g‘,;ulfbffg.}l: (vi)
S Pl A (vii)
~EEw S (i)

5 (ix)

Define cyclic quadrilateral.
Define radius.

Define incircle.

e S0 A s 08 L el vnie 3 g aaa
Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

x3 +sh=15%7 S ()
_,TL)"/"K'l'uf.’ujud:xz—-x+p2=0..'.'.J)Lffl.‘£(}”&gd,P (&)

2 2
Solve: X3 +54=15x3

Find p if the roots of the equation x2 _x 4 p? =0 ditfer by unity.
el -:_;_GnJ"Lp 5:6 e GLLT T2 Sonsl 34 ) )
If 2 is added in each number of the ratio 3 : 4, we get a new ratio 5: 6 find the numbers.

(I Y PP TR

Resolve into partial fractions: G-D2x-2 x-12(x-2)

B=1{2.3.57 A={1,3.5,7,9} U={1,2,3,4,5,6,7,8,9,10}.% (AUBY =ANB L. ¢ ()
Prove that (AUB}vAﬂB suchthat U= {1,2.3,4,5.6,7.8,9, 10}, A={1,3,5,7,9},
B_{*’a 3 ?}

Find the standard deviation'S' of:

P s SIS (&)

(tan 6 + cot ) (cos O + sin ) = secO + cosecH J/é‘:/.g ()

12,6,7,3;"15, 10; 18,5

Prove that:

..._L:”f !J'v v f)z;r‘; KJ |
Inscribe a circle in a triangle ABC with sides | AB|=5cm , |BC|[=3cm and |CA |=3cm.

Also measure its in radius.

- t'fuf//: tb),.-ﬁ’llbé./..w"d (rﬂ/ﬁs")nkf(; /C/A:.;_ /bf; ok
Prove that a straight line, drawn from the center of a circle to bisect a chord (which is not a diameter) is

perpendicular to the chord.
--OR -- o

N oY gux{f ly oAb S LI s S ek

Prove that any two angles in the same segment of a circle are equal.
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